## **ONLINE SERVICES FILING RECORD:**



Taxpayer Name:NORTH FREIGHT EXPRESS INCAccount Number:059-089283

Account Type: IFTA Carrier Tax Period Begin: April 01, 2024
Period End: June 30, 2024

Return Type: Original Period End: June 30, 2024

Due Date: July 31, 2024

Remaining Due: \$875.35

Summary	
Subtotal Amount Due or Credit	\$875.35
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$875.35

Account Number: 059-089283
Filing Period: June 30, 2024

urisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
California		2. Diesel	10,628	10,628	5.52	1,925	733	1,192	1.0890	\$1,298.09	\$0.00	\$1,298.09
Nevada		2. Diesel	16,527	16,527	5.52	2,994	3,373	-379	0.2700	-\$102.33	\$0.00	-\$102.33
Utah		2. Diesel	7,375	7,375	5.52	1,336	2,335	-999	0.3650	-\$364.64	\$0.00	-\$364.64
Wyoming		2. Diesel	1,846	1,846	5.52	334	195	139	0.2400	\$33.36	\$0.00	\$33.36
Colorado		2. Diesel	471	471	5.52	85	44	41	0.2650	\$10.87	\$0.00	\$10.87
			36.847	36.847		6.674	6.680	-6		\$875.35	\$0.00	\$875.35

## **ONLINE SERVICES FILING RECORD:**



Taxpayer Name:NORTH FREIGHT EXPRESS INCAccount Number:059-089283

Account Type: IFTA Carrier Tax Period Begin: July 01, 2024

Return Type: Original Period End: September 30, 2024

**Due Date:** October 31, 2024

Remaining Due: \$348.98

Summary	
1. Subtotal Amount Due or Credit	\$295.03
2. Penalty	\$50.00
3. Interest	\$3.95
4. TOTAL BALANCE DUE OR CREDIT	\$348.98

Account Number: 059-089283

Filing Period: September 30, 2024

Jurisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
California		2. Diesel	9,452	9,452	6.99	1,352	997	355	1.0230	\$363.17	\$3.03	\$366.20
Nevada		2. Diesel	17,413	17,413	6.99	2,491	3,153	-662	0.2700	-\$178.74	\$0.00	-\$178.74
Utah		2. Diesel	7,649	7,649	6.99	1,094	791	303	0.3650	\$110.60	\$0.92	\$111.52
			34,514	34,514		4,937	4,941	-4		\$295.03	\$3.95	\$298.98

## **ONLINE SERVICES FILING RECORD:** IFTA CARRIER RETURN



Taxpayer Name: NORTH FREIGHT EXPRESS INC

**Account Type: IFTA Carrier Tax** 

**Return Type:** Original

Submitted: 1/31/2025 3:28:52 PM

**Confirmation #:** 0-047-421-583

**Account Number:** 059-089283

Period Begin: October 01, 2024 December 31, 2024 Period End:

**Due Date:** January 31, 2025

Remaining Due: \$392.54

Summary	
Subtotal Amount Due or Credit	\$392.54
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$392.54

Account Number: 059-089283

Filing Period: December 31, 2024

Jurisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
California		2. Diesel	11,290	11,290	6.81	1,658	1,207	451	1.0230	\$461.37	\$0.00	\$461.37
Nevada		2. Diesel	16,262	16,262	6.81	2,388	3,416	-1,028	0.2700	-\$277.56	\$0.00	-\$277.56
Utah		2. Diesel	7,133	7,133	6.81	1,047	478	569	0.3650	\$207.69	\$0.00	\$207.69
Arizona		2. Diesel	30	30	6.81	4	0	4	0.2600	\$1.04	\$0.00	\$1.04
			34.715	34.715		5.097	5.101	-4		\$392.54	\$0.00	\$392.54

## **ONLINE SERVICES FILING RECORD:** IFTA CARRIER RETURN



Taxpayer Name: NORTH FREIGHT EXPRESS INC **Account Number:** 059-089283

**Account Type: IFTA Carrier Tax** 

**Return Type:** Original

Submitted: 4/30/2025 4:00:05 PM

**Confirmation #:** 0-049-191-460

Period Begin: January 01, 2025 Period End: March 31, 2025 **Due Date:** April 30, 2025

Remaining Due: \$381.72

Summary	
1. Subtotal Amount Due or Credit	\$381.72
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$381.72

Account Number: 059-089283

Filing Period: March 31, 2025

Jurisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Total
California		2. Diesel	8,393	8,393	6.56	1,279	779	500	1.0230	\$511.50	\$0.00	\$511.50
Nevada		2. Diesel	19,336	19,336	6.56	2,948	3,490	-542	0.2700	-\$146.34	\$0.00	-\$146.34
Utah		2. Diesel	7,027	7,027	6.56	1,071	1,028	43	0.3850	\$16.56	\$0.00	\$16.56
			34,756	34,756		5,298	5,297	1		\$381.72	\$0.00	\$381.72